Tr{ary

H1

H3

H2

+7 (812) 490-76-68

Cepun

KLCX

a . o
\J
— ' [:wxr
V vl A
- H > 5
Pasmepb! 3aTaxKKa Ocnabneune XapakTepucruku DaBneHve Ha
NOBEPXHOCTb

ApTuKkyn

Mt Ta Pa Pm

d|D|[D1|H|HT|H2]|H3 BuHT | (Nm) | KonuuecTBo BiHTOB NV Konnyectso BUHTOB (Nm) (KN) (N/mm?) (N/mm?)

KLCX010 | 10| 16|29 |31 |27 |14 |23 | M4x12 2 4 M4x12 3 22 4 82 51
KLCX012 [ 12|18 (3232 (28| 14|23 | M4x12 2 4 M4x12 3 26 4 69 46
KLCX014 | 14|23 (38|32 |28 | 14| 23 | M4x12 2 4 M4x12 3 30 4 59 36
KLCX015 | 15|24 (44|43 [37 16|29 | M6x18 8 4 M6x18 3 73 10 107 67
KLCX016 |16 |24 |44 |43 |37 16|29 | M6x18 8 4 M6x18 3 78 10 101 67
KLCX018 |18 | 26 |47 |45 (39|18 | 31 | M6x18 8 4 M6x18 3 87 10 79 55
KLCX019 [ 19|27 [49(45(39 (18|31 | M6x18 8 4 M6x18 3 92 10 75 53
KLCX020 | 20|28 |50 |45 (39 (18|31 | M6x18 8 4 M6x18 3 97 10 71 51
KLCX022 |22 |32 |54 |52 |46 |25|38| M6x18 8 4 M6x18 3 105 10 47 32
KLCX024 |24 |34 |56 |52 |46 | 25|38 | M6x18 8 6 M6x18 3 175 15 64 45
KLCX025 | 25|34 |56 |52 |46 | 25|38 | M6x18 8 6 M6x18 3 180 15 62 45
KLCX028 |28 |39 |61 |52 |46 | 25|38 | M6x18 8 6 M6x18 3 200 15 55 40
KLCX030 |30 |41 [62|52|46|25| 38| M6x18 8 6 M6x18 3 220 15 51 38
KLCX032 [ 32|43 [65|52 46|25 38| M6x18 8 8 M6x18 4 310 19 64 48
KLCX035 | 35|47 66|59 |53]32]|43| M6x18 8 8 M6x18 4 340 19 46 34
KLCX038 |38 |50 | 72|59 |53[32]|43| M6x18 8 8 M6x18 4 370 19 42 32
KLCX040 |40 |53 [ 75|59 (|53[32]|45| M6x18 8 8 M6x18 4 390 19 40 30
KLCX042 |42 | 55|78 |59 |53]32]|45| M6x18 8 8 M6x18 4 410 19 39 29
KLCX045 [ 45|59 (86|78 |70 |45 |56 | M8x22 | 18 8 M8x22 4 820 36 48 36
KLCX048 |48 |62 |87 |78 |70 |45 |56 | M8x22 | 18 8 M8x22 4 880 36 45 35
KLCX050 |50 |65 (92|78 |70 |45 |56 | M8x22 | 18 8 M8x22 4 910 36 43 33






